PWRO01 Post Test

Question 1
Which of these is recommended to help realign the windshield wiper blades?
--Masking tape on the windshield

Question 2
All of these may cause wipers to chatter EXCEPT:
--improper position.

Question 3
Technician A says that damaged heated seat elements can be repaired.
Technician B says that heated seat elements may be bonded to the seat cushion.
Who is right?

--Both A and B

Question 4

A power window switch is being tested.

Technician A says that the switch must be open when testing for continuity.

Technician B says that a reading of no continuity indicates a properly operating switch.
Who is right?

--Neither A nor B

Question 5

Technician A says that the memory seat function will have to be reprogrammed after the battery is disconnected.
Technician B says that the memory seat function only works if the vehicle is in NEUTRAL or PARK.

Who is right?

--Both A and B

Question 6
The memory seat switch will work the seat when the vehicle shift select lever is in:
PARK.

Question 7
To determine seat position, memory seat systems use seat position sensors called:
potentiometers.

Question 8

Technician A says that wiper arm force on the wind-shield is measured with the arm in the full outwipe position.
Technician B says the wiper arm force on the wind-shield is measured with the wiper blade removed from the
wiper arm.

Who is right?

You Answered

--B only

Question 9
The horn may be inoperative following an airbag deployment due to a:
--damaged clock spring.

This study source was downloaded by 100000794933160 from CourseHero.com on 02-26-2022 09:07:30 GMT -06:00

https://www.coursehero.com/file/32107623/PWRO01-Post- Testodt/


https://www.coursehero.com/file/32107623/PWR01-Post-Testodt/

Question 10

Technician A says that some wiper systems will set a diagnostic trouble code.
Technician B says that a faulty control module in a wiper system requires replacement.
Who is right?

--Both A and B

Question 11
All of these are mechanical failures for a power window EXCEPT:
--poor grounds.

Question 12

Technician A says that the depressed park feature is designed to drop the windshield wipers below the lower
windshield trim.

Technician B says that the depressed park feature requires a separate motor on the windshield wiper assembly:.
Who is right?

--Both A and B

Question 13

Technician A says that a relay sends high current to a power window motor.

Technician B says that a relay is used to prevent overloading the power window switch.
Who is right?

--Both A and B

Question 14

Technician A says that a broken plastic cable in an antenna housing requires replacement of the power antenna
assembly.

Technician B says that a power antenna motor that shows no continuity must be replaced.

Who is right?

--Both A and B

Question 15

Technician A says that the rear defogger and heated mirror system operate on the same circuit.
Technician B says that a heated mirror heating element can be repaired similar to a rear defogger grid.
Who is right?

--A only

Question 16

Technician A says that some intermittent wiper systems use a resistor to vary the time between wipes.
Technician B says that some intermittent wiper systems use a capacitor to vary the time between wipes.
Who is right?

--Both A and B

Question 17
A temperature sensitive resistor used to monitor the seat temperature is called a:
--thermistor.

Question 18
Which of these is used by a rain sensor to detect moisture?
--Infrared beams
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Question 19

Technician A says that power sliding door problems can be diagnosed with a scan tool.
Technician B says that power sliding doors will operate with the vehicle in DRIVE.
Who is right?

--A only

Question 20

Technician A says that some washer pumps are contained within the washer fluid reservoir.
Technician B says that some washer pumps are located outside the washer fluid reservoir.
Who is right?

--Both A and B

Question 21
The power sliding door initialization procedure:
--helps the control module determine the full open and close position.

Question 22
How many steps are contained in the I-CAR Trouble-shooting Flowchart?
--5

Question 23

Technician A says that some damaged horn switches require replacing the airbag module.
Technician B says that a damaged clockspring harness can be repaired.

Who is right?

--A only

Question 24
Which of these adhesives are recommended for replacing a bonded side view mirror glass?
--Urethane

Question 25

Technician A says that when making resistance measurements on a circuit, it is important to observe the correct
polarity when connecting the test leads.

Technician B says that resistance measurements should be made using a DVOM set to the Ohms scale.

Who is right?

--B only
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